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Question 1- A bag contains 24 eggs, out of which 8 are rotten. The remaining
are not rotten. Two eggs are selected at random. What 1s the probability that

one of the egg 1s rotten.

T |- ThH AT H 24 3 7, S9H € § U §U B Y U §U AR ¢l 31 3 Agfoseh &Y

I ST &) Uoh 37S o ¥ B o6 ATIIehd | T 82

A.11/23
B.32/69
C.17/23
D.21/23
E. None of these
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Question 2- A boat takes 150 1n less to travel 40 km downstream than to
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A

travel same distance in upstream. The speed of stream 1s 4km/hr. What 1s

the downstream speed.
T 2- ek AT T o Hiciohel T AR A ShT TAT H T o 3TTohet 40

fereft 1 gl 2 R | 150 S| T8 oIl ) T i 71T 4 foheli/sier 2. e ah

ST Tl T &2
A.16 km/hr
B. 12 km/hr
C. 10 km/hr

D. 8 km/hr
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Question 3- The ratio between the age of father’s and son’s age1s 3 : 1 and
that of son’s age and mother’s age 1s 1 : 2. Find the ratio between the age
of father’s and mother’s age.

T 3- TUCT ST ol SR o off=r ohT AT 3: 1 T ST T shl IR S HTCT
3TY o i<l T AT 1: 2 21 AT S ATAT shl 371 o STl <Al ST FTd

AT A6 1

B.1:2
C.5:4
D.3:2
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Question 4- Abhay rolled a pair of dice together. What 1s the probability
that one dice showed multiple of 2 and the second dice showed neither a
multiple of 3 nor 2.
T 4- 3T Tk SIS ITHET Teh 9T ThehT| T8ehT YTTRIshdT SRIT @ Toh Teh g 2
<1 OIS feaTalT @ 31T gor qrer 7 a1 3 31 & 2 o1 0IS a2iell 22

A.1/3

B.1/4

C.1/6

D.1/5
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Question 5- Rohini’s monthly income 1s three times Ravi’s monthly
income. Ravi’s monthly income 1s 15% more than Rubina’s monthly
income. Rubina’s monthly income is Rs 32,000. What is Rohini’s annual
Income.

T 5- UTEUit T ATIHeh ST Tfel 3hT HITeFeh ST AT A1 7T 81 Tfer shl ATireh 317
BT shl ATREER 3T § 15% 37181k &, JHT shl ATIYeh AT 32,000 9 2
Ufoft Y arfifer 1 I 29

A.Rs 34,4,3700
B.Rs 13,24,800
C.Rs 22,23,600
D.Rs 32,31,500
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Question 6- Find the compound interest for second year on a sum of

Rs 12,000 at 10% per annum.

T 6- 12,000 T T T T GBI o6 T 10% et =1 b1 T & <Isheifs

SIS RS

A.Rs 1120
B.Rs 1210
C.Rs 1330
D.Rs 1320
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Question 7- Find the simple interest on a sum of Rs 8000 at 15% per

annum for 2 years.

T 7- 8000 T hT TIST UL 2 I ok TeTT 15% TNk sATST shl o & ETOT

SITST T hITSIq|

A.Rs 1200
B. Rs 2400
C.Rs 4400
D.Rs 5400
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Question 8- A person sells and article for Rs 12,000 at 20% profit. Find the
p p

cost price of article.
T 8- Teh ATeh 20% WATH WX 12,000 ¥ H =& S=IelT 8| & 31 367 7o F1d

EAIS I a) Rs 10,000
b) Rs 8000
c) Rs 6000
d) Rs 5500
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Question 9- Two dice are thrown simultaneously. Find the probability of

getting same number on both dice.

(e

T 9- T ITH Ush U1 Yok ST 2| SHT UTET UL GHTH ST ITH v shl 1

SIS

A.1/4
B. 1/5
C.1/6
D.3/4

[Lenhd |
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Question 10- In a twenty over match required run rate to win the match
is 8 run per over. At the end of 15™ over run rate is 7.2 run per over.

Find the required run rate to win the match.

9 10- S 1K o B § B Sfia- oh foIw 3T1evaes W © 8 T ufd 3K 8
1597 3o h! I T 1 7.2 T Fid ST 2. Wl i oh [elq O STuferd

T {E T shif|

A.8
B.7
C.8.2
D.9
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